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/ General Instructions to Candidates : \

TdeguroemBwd:

There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

You are neither allowed to write your answers nor to discuss anything with
others during the 'cool off time'.

Use the 'cool off time' to get familiar with questions and to plan your answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.
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Explain the features of

Australopithecus.

How did early humans obtain

food?

Prepare a short note on the
system of  writing in

Mesopotamia.

How did the geography
influence the life of the people

in Mesopotamia?

Analyze the economic and social
life of the people in ancient
Rome.

OR
How did the administration of
the Abbasids differ from that of
the Umayyads? Explain.
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6. Find out the relationship
between the two parts of item 'a’

and fill in the blanks of item b’
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10.

11.

Name the following places and
geographical features and mark

them on the outline map of the
World provided.

a) The sea which separates

Europe from Africa.

b) The desert which lies to the
South of the Roman Empire.

¢) The capital established by the
Abbasids.

d) The religious centre of the

Central Islamic State.

Point out the features of the

legal code of Genghis Khan.

How did the Mongols become a
military power by using the

features of the steppe region?

Analyze the features of the three
orders of the medieval European
society.

OR
Explain the life of the people in
the urban civilizations of Central

and South America.

How did the towns of medieval

Europe become a fourth order?
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12.

13.

What do you mean by the term,

'Renaissance man'?

Choose the correct answer from

the given alternatives.

a) Name the author of the

medical encyclopaedia

during Renaissance.
i) Ptolemy

i) Petrarch

iii) al-Razi

iv) Dante

b) Who was the first to dissect
the human body?

i) Andreas Vesalius
i1) Ibn Sina
iii) Aristotle
iv) Francesco Barbaro
c) Name the sculptor of 'The
Pieta'.
i) Lorenzo Valla
i1) Machiavelli
iii) Alberti
iv) Michelangelo
d) Who formulated the theory of

gravitation?

i) Copernicus

i1) Isaac Newton
iii) Johannes Kepler

iv) Galileo Galilei
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14.

15.

16.

17.

Arrange the following events in 14. 2pales o@amlgies moeaIaBeS8
chronological order. BORINEMMD (EADTIM ag)PI®Es.
a) Cabral reached in Brazil a) el (rumilelleaiesilea)domg.
b) Pizarro conquered Peru b) alloero ealoy wslesos.
c) Columbus reached in the C) e®mogoniay’  euanon  aflaly
Bahama Islands Beloaio.
d) Cortes arrived at Mexico (4) d) emodsm’  ene mlesnow]d
af)Emleoldmy.
Examine the features of 15. eyglvesiend (] B@ > B>
Luddism. (2) @160 86185,
Link  column 'A' with 16. A esmogmnim @ompewonymoal B
appropriate items from column @ @mlan seseoml algle
'B'. (4) (06| SO0
A B
a) John Kay 1) Water Frame
82206M W 050 6aWlo
b) James Hargreaves 11) Mule
2flot’ a00dEslauay’ oy
c) Richard Arkwright 1ii) Flying shuttle loom
Alofodaw erdesne0q 96q0@loty a¥gl@ Lo
d) Samuel Crompton iv) Spinning jenny
aOMYQED GleBxO0aigad aqlomlows’ gam]
By the eighteenth century, 17. aielomsgoo MmygosneodEmIord elenem
London had acquired a global @YW (AlOWOM)o 6)6)09:0_“0’]%&.
significance. How? Explain. “4) ag)EBOM? ANlREDOSeH:.
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18.

19.

20.

What was 'Gold Rush' in

America?

The book entitled 'The Great
Australian Silence' marked the
beginning for studying and
understanding the aborigines of
Australia. Substantiate the

statement.

The period of Meiji Restoration
in Japan was an age of reforms.
Analyze the validity of this

statement.
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